Adv. Appl. Math. 49(2012), no. 3-5, 263–270.

SOME q-CONGRUENCES RELATED TO 3-ADIC VALUATIONS

HAO PAN AND ZHI-WEI SUN

Department of Mathematics, Nanjing University Nanjing 210093, People's Republic of China haopan79@yahoo.com.cn, zwsun@nju.edu.cn

ABSTRACT. In 1992, Strauss, Shallit and Zagier proved that for any positive integer a, 3^{a-1} or

$$\sum_{k=0}^{a-1} \binom{2k}{k} \equiv 0 \pmod{3^{2a}}$$

and furthermore

$$\frac{1}{3^{2a}} \sum_{k=0}^{3^a-1} \binom{2k}{k} \equiv 1 \pmod{3}.$$

Recently a q-analogue of the first congruence was conjectured by Guo and Zeng. In this paper we prove the conjecture of Guo and Zeng, and also give a q-analogue of the second congruence.

1. INTRODUCTION

Partially motivated by the work of Pan and Sun [PS], Sun and Tauraso [ST2] proved that for any prime p and $a \in \mathbb{Z}^+ = \{1, 2, 3, ...\},$

$$\sum_{k=0}^{p^a-1} \binom{2k}{k} \equiv \left(\frac{p^a}{3}\right) \pmod{p^2},$$

where (-) is the Legendre symbol. (See also [ST1] and [ZPS] for related results.) When checking whether there are composite numbers n such that

$$\sum_{k=0}^{n-1} \binom{2k}{k} \equiv \left(\frac{n}{3}\right) \pmod{n^2},$$

²⁰¹⁰ Mathematics Subject Classification. Primary 11B65; Secondary 05A10, 05A30, 11A07, 11S99.

Keywords: 3-adic valuation, central binomial coefficient, congruence, q-analogue.

Both authors were supported by the National Natural Science Foundation (grants 10901078 and 11171140 respectively) of China, and the Priority Academic Program Development of Jiangsu Higher Education Institutions.

¹

Sun and Tauraso found that

$$\nu_3\left(\sum_{k=0}^{3^a-1} \binom{2k}{k}\right) \geqslant 2a \quad \text{for } a = 1, 2, 3, \dots,$$
(1.1)

where $\nu_3(m)$ denotes the 3-adic valuation of an integer m (i.e., $\nu_3(m) = \sup\{a \in \mathbb{N} : 3^a \mid m\}$ with $\mathbb{N} = \{0, 1, 2, ...\}$). However, a refinement of this was proved earlier by Strauss, Shallit and Zagier [SSZ] in 1992.

Theorem 1.1 (Strauss, Shallit and Zagier [SSZ]). For any $a \in \mathbb{Z}^+$ we have $3^{a-1} \quad (24)$

$$\sum_{k=0}^{3^{a}-1} \binom{2k}{k} \equiv 3^{2a} \pmod{3^{2a+1}}.$$
 (1.2)

Furthermore,

$$\frac{\sum_{k=0}^{n-1} \binom{2k}{k}}{n^2 \binom{2n}{n}} \equiv -1 \pmod{3} \quad for \ all \ n \in \mathbb{Z}^+.$$

Recall that the usual q-analogue of a natural number n is

$$[n]_q = \frac{1 - q^n}{1 - q} = \sum_{0 \le k < n} q^k$$

which tends to $n \text{ as } q \to 1$. For $d \in \mathbb{Z}^+$ the *d*-th cyclotomic polynomial in the variable q is given by

$$\Phi_d(q) = \prod_{\substack{r=1\\(r,d)=1}}^d \left(q - e^{2\pi i r/d}\right).$$

The polynomial $\Phi_d(q)$ has integer coefficients. Given a positive integer n > 1, it is clear that

$$[n]_q = \frac{q^n - 1}{q - 1} = \prod_{k=1}^{n-1} \left(q - e^{2\pi i k/n} \right) = \prod_{\substack{d \mid n \\ d > 1}} \Phi_d(x).$$

It is well known that if $d_1, d_2 \in \mathbb{Z}^+$ are distinct then $\Phi_{d_1}(q)$ and $\Phi_{d_2}(q)$ are relatively prime in the polynomial ring $\mathbb{Z}[q]$. If p is a prime and a is a positive integer, then

$$\Phi_{p^{a}}(q) = \frac{q^{p^{a}} - 1}{q^{p^{a-1}} - 1} = [p]_{q^{p^{a-1}}} \text{ and } [p^{a}]_{q} = \prod_{j=1}^{a} \Phi_{p^{j}}(q).$$

For $n, k \in \mathbb{N}$ the usual q-analogue of the binomial coefficient $\binom{n}{k}$ is the following q-binomial coefficient:

$$\begin{bmatrix} n \\ k \end{bmatrix}_q = \begin{cases} ([n]_q \cdots [n-k+1]_q)/([1]_q \cdots [k]_q) & \text{if } 0 < k \le n, \\ 1 & \text{if } k = 0, \\ 0 & \text{if } k > n. \end{cases}$$

Recently Guo and Zeng [GZ] conjectured the following q-analogue of (1.1).

Conjecture 1.2 (Guo and Zeng [GZ, Conjecture 3.5]). Let a be a positive integer. Then

$$\sum_{k=0}^{3^{a}m-1} q^{k} \begin{bmatrix} 2k\\ k \end{bmatrix}_{q} \equiv 0 \pmod{[3^{a}]_{q}^{2}} \text{ for any } m \in \mathbb{Z}^{+}.$$
 (1.3)

Concerning this conjecture, Guo and Zeng [GZ] were able to show congruence (1.3) with the modulus $[3^a]_q^2$ replaced by $[3^a]_q$.

In this paper we prove Conjecture 1.2 as well as a q-analogue of congruence (1.2).

Theorem 1.3. Let $a \in \mathbb{Z}^+$. Then (1.3) holds. Furthermore, we have the following q-analogue of (1.2):

$$\frac{1}{[3^a]_q^2} \sum_{k=0}^{3^a-1} q^k {2k \brack k}_q \equiv 2R(a,q) \pmod{\Phi_{3^a}(q)}$$
(1.4)

where

$$R(a,q) := \sum_{\substack{k=1\\3|k-1}}^{3^{a}-1} q^{\frac{(k+2)(k-1)}{6}} \frac{(-1)^{k}}{[k]_{q}^{2}} \left(1 + \left(\frac{k-1}{3} - \frac{3^{a-1}+1}{2}\right)(1-q^{k})\right).$$
(1.5)

We remark that if $a \in \mathbb{Z}^+$, then $\lim_{q \to 1} R(a,q) \equiv -1 \pmod{3}$. This follows from

$$\sum_{\substack{k=1\\3|k-1}}^{3^{a}-1} \frac{(-1)^{k}}{k^{2}} = \sum_{j=0}^{3^{a-1}-1} \frac{(-1)^{3j+1}}{(3j+1)^{2}} \equiv -\sum_{j=0}^{3^{a-1}-1} (-1)^{j} = -1 \pmod{3}.$$

Also, for $k \in \mathbb{Z}^+$ with $k \equiv 1 \pmod{3}$, $[k]_q$ is relatively prime to $[3^a]_q$ since k is relatively prime to 3^a . Therefore congruence (1.4) implies both congruences (1.2) and (1.3) in the case m = 1.

We will prove an auxiliary result in the next section and then show Theorem 1.3 in Section 3.

HAO PAN AND ZHI-WEI SUN

2. An Auxiliary Theorem

Theorem 2.1. Let $a, m \in \mathbb{Z}^+$ and let $\psi : \mathbb{Z} \to \mathbb{Z}$ be a function such that for any $k \in \mathbb{Z}$ and j = 1, ..., a we have

$$\psi(k) \equiv \psi(-k) \pmod{3^a}$$
 and $\psi(k+3^j) \equiv \psi(k) \pmod{3^j}$.

Then

$$\sum_{k=1}^{3^{a}m-1} q^{\psi(k)} \left(\frac{k}{3}\right) \begin{bmatrix} 2 \cdot 3^{a}m \\ k \end{bmatrix}_{q} \equiv 0 \pmod{[3^{a}]_{q}^{2}}.$$
 (2.1)

In particular,

$$\sum_{k=1}^{3^a m-1} \left(\frac{k}{3}\right) \begin{bmatrix} 2 \cdot 3^a m \\ k \end{bmatrix}_q \equiv 0 \pmod{[3^a]_q^2}.$$
 (2.2)

Proof. Clearly $[x]_q \equiv [y]_q \pmod{\Phi_d(q)}$ provided that $x \equiv y \pmod{d}$. By the q-Lucas congruence (cf. [Sa]),

$$\begin{bmatrix} x_1d + y_1 \\ x_2d + y_2 \end{bmatrix}_q \equiv \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} \begin{bmatrix} y_1 \\ y_2 \end{bmatrix}_q \pmod{\Phi_d(q)}$$

for $x_1, x_2, y_1, y_2 \in \mathbb{N}$ with $0 \leq y_1, y_2 \leq d-1$. Recall that

$$[3^a]_q = \prod_{j=1}^a \Phi_{3^j}(q).$$

Since these $\Phi_{3^j}(q)$ are relatively prime and $[2 \cdot 3^a m]_q \equiv 0 \pmod{[3^a]_q}$, we only need to show that

$$\sum_{k=1}^{3^{a}m-1} \left(\frac{k}{3}\right) \frac{q^{\psi(k)}}{[k]_{q}} \left[\frac{2 \cdot 3^{a}m - 1}{k - 1}\right]_{q} \equiv 0 \pmod{\Phi_{3^{j}}(q)}$$

for every $j = 1, \ldots, a$.

For any $1 \leq j \leq a$ and $1 \leq k \leq 3^a m - 1$ with $3 \nmid k$, write $k = 3^j s + t$ where $1 \leq t \leq 3^j - 1$. Then, by the q-Lucas congruence,

$$\begin{bmatrix} 2 \cdot 3^a m - 1\\ k - 1 \end{bmatrix}_q \equiv \binom{2 \cdot 3^{a-j} m - 1}{s} \begin{bmatrix} 3^j - 1\\ t - 1 \end{bmatrix}_q \pmod{\Phi_{3^j}(q)}.$$

And we have

$$\begin{bmatrix} 3^{j} - 1 \\ t - 1 \end{bmatrix}_{q} = \prod_{j=1}^{t-1} \frac{[3^{j} - j]_{q}}{[j]_{q}}$$
$$= \prod_{j=1}^{t-1} \frac{q^{-j}([3^{j}]_{q} - [j]_{q})}{[j]_{q}} \equiv (-1)^{t-1}q^{-\binom{t}{2}} \pmod{\Phi_{3^{j}}(q)}.$$

Hence

$$\begin{split} &\sum_{k=1}^{3^{a}m-1} \left(\frac{k}{3}\right) \frac{q^{\psi(k)}}{[k]_{q}} \left[\frac{2 \cdot 3^{a}m - 1}{k - 1}\right]_{q} \\ &= \sum_{s=0}^{3^{a-j}m-1} \sum_{t=1}^{3^{j}-1} \left(\frac{3^{j}s + t}{3}\right) \frac{q^{\psi(3^{j}s + t)}}{[3^{j}s + t]_{q}} \left[\frac{2 \cdot 3^{a}m - 1}{3^{j}s + t - 1}\right]_{q} \\ &\equiv \sum_{s=0}^{3^{a-j}m-1} \left(\frac{2 \cdot 3^{a-j}m - 1}{s}\right) \sum_{t=1}^{3^{j}-1} \left(\frac{t}{3}\right) \frac{(-1)^{t-1}q^{\psi(t) - \binom{t}{2}}}{[t]_{q}} \pmod{\Phi_{3^{j}}(q)}. \end{split}$$

Clearly,

$$2\sum_{t=1}^{3^{j}-1} \left(\frac{t}{3}\right) \frac{(-1)^{t-1}q^{\psi(t)-\binom{t}{2}}}{[t]_{q}}$$
$$= \sum_{t=1}^{3^{j}-1} \left(\left(\frac{t}{3}\right) \frac{(-1)^{t-1}q^{\psi(t)-\binom{t}{2}}}{[t]_{q}} + \left(\frac{3^{j}-t}{3}\right) \frac{(-1)^{3^{j}-t-1}q^{\psi(3^{j}-t)-\binom{3^{j}-t}{2}}}{[3^{j}-t]_{q}}\right)$$
$$\equiv \sum_{\substack{t=1\\3\nmid t}}^{3^{j}-1} \left(\frac{t}{3}\right) \left(\frac{(-1)^{t-1}q^{\psi(t)-\binom{t}{2}}}{[t]_{q}} + \frac{(-1)^{t-1}q^{\psi(t)-\binom{-t}{2}}}{-q^{-t}[t]_{q}}\right) = 0 \pmod{\Phi_{3^{j}}(q)}.$$

So (2.1) holds.

Note that (2.2) is just (2.1) with ψ replaced by the zero function from $\mathbb{Z} \to \mathbb{Z}$. So (2.2) is also valid. This concludes the proof. \Box

3. Proof of Theorem 1.3

Lemma 3.1. Let $a \in \mathbb{Z}^+$ and let ψ be a function as in Theorem 2.1. Then

$$\frac{1}{2[3^{a}]_{q}^{2}} \sum_{k=1}^{3^{a}-1} q^{\psi(k)} \left(\frac{k}{3}\right) \begin{bmatrix} 2 \cdot 3^{a} \\ k \end{bmatrix}_{q} \\
\equiv \sum_{\substack{k=1\\3|k-1}}^{3^{a}-1} q^{\psi(k)-\binom{k}{2}} \frac{(-1)^{k-1}}{[k]_{q}^{2}} (1+\Psi_{a}(k)(1-q^{k})) \pmod{\Phi_{3^{a}}(q)},$$
(3.1)

where

$$\Psi_a(k) := \frac{\psi(3^a - k) - \psi(k)}{3^a} + \frac{3^a - 1}{2} - k.$$
(3.2)

Proof. We have

$$\sum_{k=1}^{3^{a}-1} \left(\frac{k}{3}\right) \frac{q^{\psi(k)}}{[k]_{q}} \left[\begin{array}{c} 2 \cdot 3^{a} - 1 \\ k - 1 \end{array} \right]_{q}$$
$$= \sum_{k=1}^{3^{a}-1} \left(\frac{k}{3}\right) \frac{q^{\psi(k)}}{[k]_{q}} \prod_{j=1}^{k-1} \frac{q^{-j}([2 \cdot 3^{a}]_{q} - [j]_{q})}{[j]_{q}}$$
$$\equiv \sum_{k=1}^{3^{a}-1} \left(\frac{k}{3}\right) \frac{(-1)^{k-1}q^{\psi(k)-\binom{k}{2}}}{[k]_{q}} \left(1 - 2\sum_{j=1}^{k-1} \frac{[3^{a}]_{q}}{[j]_{q}}\right) \pmod{\Phi_{3^{a}}(q)^{2}},$$

since

$$[2 \cdot 3^a]_q = [3^a]_q (1+q^{3^a}) = [3^a]_q (2+q^{3^a}-1) \equiv 2[3^a]_q \pmod{[3^a]_q^2}.$$

Note that for $s = 0, 1, 2, \ldots$ we have

$$q^{3^{a_{s}}} = 1 + (q^{3^{a}} - 1) \sum_{j=0}^{s-1} q^{3^{a_{j}}} = 1 + (q^{3^{a}} - 1) \left(s + \sum_{j=0}^{s-1} (q^{3^{a_{j}}} - 1) \right)$$
$$\equiv 1 + s(q^{3^{a}} - 1) \pmod{\Phi_{3^{a}}(q)^{2}}$$

and

$$q^{-3^{a_{s}}} \equiv \frac{1}{1+s(q^{3^{a}}-1)} = \frac{1-s(q^{3^{a}}-1)}{1-s^{2}(q^{3^{a}}-1)^{2}} \equiv 1-s(q^{3^{a}}-1) \pmod{\Phi_{3^{a}}(q)^{2}}.$$

Also, for each $1 \le k \le 3^a - 1$, we have

$$\begin{split} & \frac{q^{\psi(3^{a}-k)-\binom{3^{a}-k}{2}}}{[3^{a}-k]_{q}} \left(1-2\sum_{j=1}^{3^{a}-k-1}\frac{[3^{a}]_{q}}{[j]_{q}}\right) \\ &= \frac{q^{\psi(3^{a}-k)-\binom{3^{a}}{2}+3^{a}k-\binom{k+1}{2}}([3^{a}]_{q}+[k]_{q})}{q^{-k}([3^{a}]_{q}^{2}-[k]_{q}^{2})} \left(1-2\sum_{j=k+1}^{3^{a}-1}\frac{[3^{a}]_{q}}{[3^{a}-j]_{q}}\right) \\ &= \frac{q^{\psi(k)-\binom{k}{2}}(1+(\frac{\psi(3^{a}-k)-\psi(k)}{3^{a}}+k-\frac{3^{a}-1}{2})(q^{3^{a}}-1))([3^{a}]_{q}+[k]_{q})}{-[k]_{q}^{2}}}{k} \\ & \times \left(1+2\sum_{j=k+1}^{3^{a}-1}\frac{q^{j}[3^{a}]_{q}}{[j]_{q}}\right) \\ &= -\frac{q^{\psi(k)-\binom{k}{2}}}{[k]_{q}} \left(1+\left(\frac{\psi(3^{a}-k)-\psi(k)}{3^{a}}+k-\frac{3^{a}-1}{2}\right)(q^{3^{a}}-1)\right) \\ &-2\frac{q^{\psi(k)-\binom{k}{2}}}{[k]_{q}}\sum_{j=k+1}^{3^{a}-1}\frac{q^{j}[3^{a}]_{q}}{[j]_{q}}-\frac{q^{\psi(k)-\binom{k}{2}}[3^{a}]_{q}}{[k]_{q}^{2}} \pmod{\Phi_{3^{a}}(q)^{2}}. \end{split}$$

7

Clearly,

$$\sum_{j=k+1}^{3^{a}-1} \frac{q^{j}}{[j]_{q}} = \sum_{j=k+1}^{3^{a}-1} \frac{1+q^{j}-1}{[j]_{q}} = -(3^{a}-1-k)(1-q) + \sum_{j=k+1}^{3^{a}-1} \frac{1}{[j]_{q}},$$

and

$$\sum_{j=1}^{3^{a}-1} \frac{1}{[j]_{q}} = \frac{1}{2} \sum_{j=1}^{3^{a}-1} \left(\frac{1}{[j]_{q}} + \frac{1}{[3^{a}-j]_{q}} \right)$$
$$\equiv \frac{1}{2} \sum_{j=1}^{3^{a}-1} \left(\frac{1}{[j]_{q}} - \frac{q^{j}}{[j]_{q}} \right) = \frac{3^{a}-1}{2} (1-q) \pmod{\Phi_{3^{a}}(q)}.$$

Thus we get

$$\begin{split} &\frac{q^{\psi(k)-\binom{k}{2}}}{[k]_{q}} \left(1-2\sum_{j=1}^{k-1} \frac{[3^{a}]_{q}}{[j]_{q}}\right) + \frac{q^{\psi(3^{a}-k)-\binom{3^{a}-k}{2}}}{[3^{a}-k]_{q}} \left(1-2\sum_{j=1}^{3^{a}-k-1} \frac{[3^{a}]_{q}}{[j]_{q}}\right) \\ &\equiv -\frac{q^{\psi(k)-\binom{k}{2}}}{[k]_{q}} \left(\left(\frac{\psi(3^{a}-k)-\psi(k)}{3^{a}}+\frac{3}{2}(3^{a}-1)-k\right)(q^{3^{a}}-1)\right) \right) \\ &- \frac{q^{\psi(k)-\binom{k}{2}}}{[k]_{q}} \left(2\sum_{j=1}^{k-1} \frac{[3^{a}]_{q}}{[j]_{q}}+2\sum_{j=k+1}^{3^{a}-1} \frac{[3^{a}]_{q}}{[j]_{q}}\right) - \frac{q^{\psi(k)-\binom{k}{2}}[3^{a}]_{q}}{[k]_{q}^{2}} \\ &\equiv \frac{q^{\psi(k)-\binom{k}{2}}[3^{a}]_{q}}{[k]_{q}^{2}} + \frac{q^{\psi(k)-\binom{k}{2}}}{[k]_{q}}\Psi_{a}(k)(1-q^{3^{a}}) \pmod{\Phi_{3^{a}}(q)^{2}}. \end{split}$$

It follows that

$$\sum_{k=1}^{3^{a}-1} \left(\frac{k}{3}\right) \frac{q^{\psi(k)}}{[k]_{q}} \left[\begin{array}{c} 2 \cdot 3^{a} - 1 \\ k - 1 \end{array} \right]_{q}$$
$$\equiv \sum_{\substack{k=1 \\ 3|k-1}}^{3^{a}-1} (-1)^{k-1} \frac{q^{\psi(k)-\binom{k}{2}}}{[k]_{q}} \left(\frac{[3^{a}]_{q}}{[k]_{q}} + \Psi_{a}(k)(1-q^{3^{a}})\right) \pmod{\Phi_{3^{a}}(q)^{2}}.$$

Noting that $[3^a]_q$ divides both sides of the above congruence by Theorem 2.1 and $[2 \cdot 3^a]_q \equiv 2[3^a]_q \pmod{[3^a]_q^2}$, we are done. \Box

Proof of Theorem 1.3. Let $m \in \mathbb{Z}^+$. By [T, (4.3)] in the case d = 0, we have

$$\sum_{k=0}^{3^{a}m-1} q^{k} \begin{bmatrix} 2k\\ k \end{bmatrix}_{q} = -\sum_{k=1}^{3^{a}m-1} q^{\psi_{m}(k)} \left(\frac{k}{3}\right) \begin{bmatrix} 2 \cdot 3^{a}m\\ k \end{bmatrix}_{q}, \qquad (3.3)$$

where

$$\psi_m(k) = \frac{2(3^a m - k)^2 - (3^a m - k)\left(\frac{3^a m - k}{3}\right) - \left(\frac{k}{3}\right)^2}{3} \in \mathbb{Z}.$$

Whenever $k \equiv l \pmod{3^j}$ with $k, l \in \mathbb{Z}$ and $1 \leq j \leq a$, we have

$$2(k+l) - \left(\frac{k}{3}\right) \equiv 4k - \left(\frac{k}{3}\right) \equiv 0 \pmod{3}$$

and hence

$$2k^{2} - k\left(\frac{k}{3}\right) - \left(2l^{2} - l\left(\frac{l}{3}\right)\right)$$
$$= (k - l)\left(2(k + l) - \left(\frac{k}{3}\right)\right) \equiv 0 \pmod{3^{j+1}}.$$

So the function $\psi = \psi_m$ has the property described in Theorem 2.1. Combining (2.1) with (3.3) we get (1.3).

Now it remains to prove (1.4). By (3.3) and Lemma 3.1, we finally obtain

$$\sum_{k=0}^{3^{a}-1} q^{k} \begin{bmatrix} 2k\\ k \end{bmatrix}_{q} = -\sum_{k=1}^{3^{a}-1} q^{\psi_{1}(k)} \left(\frac{k}{3}\right) \begin{bmatrix} 2\cdot 3^{a}\\ k \end{bmatrix}_{q}$$
$$\equiv 2[3^{a}]_{q}^{2} \sum_{\substack{k=1\\3|k-1}}^{3^{a}-1} q^{\frac{(k+2)(k-1)}{6}} \frac{(-1)^{k}}{[k]_{q}^{2}} \left(1 + \left(\frac{k-1}{3} - \frac{3^{a-1}+1}{2}\right)(1-q^{k})\right)$$

 $(\mod \Phi_{3^a}(q)[3^a]_q^2).$

This concludes our proof. \Box

Acknowledgment. The authors thank Prof. J. Shallit for informing them of the paper [SSZ].

References

- [GZ] V.J.W. Guo, J. Zeng, Some congruences involving central q-binomial coefficients, Adv. in Appl. Math. 45 (2010), 303–316.
- [PS] H. Pan, Z.W. Sun, A combinatorial identity with application to Catalan numbers, Discrete Math. 306 (2006), 1921–1940.
- [Sa] B.E. Sagan, Congruence properties of q-analogs, Adv. in Math. 95 (1992), 127– 143.
- [SSZ] N. Strauss, J. Shallit, D. Zagier, Some strange 3-adic identities, Amer. Math. Monthly 99 (1992), 66–69.
- [ST1] Z.W. Sun, R. Tauraso, New congruences for central binomial coefficients, Adv. in Appl. Math. 45 (2010), 125–148.
- [ST2] Z.W. Sun, R. Tauraso, On some new congruences for binomial coefficients, Int. J. Number Theory 7 (2011), 645–662.
- [T] R. Tauraso, q-analogs of some congruences involving Catalan numbers, Adv. in Appl. Math. 48 (2012), 603–614.
- [ZPS] L. Zhao, H. Pan, Z.W. Sun, Some congruences for the second-order Catalan numbers, Proc. Amer. Math. Soc. 138 (2010), 37–46.